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C, —Modules and D, —Modules

Hamza Hakmit Bashar Alhussein?

Department of Mathematics, Faculty of Science,
Damascus University

Abstract

We have known that basic quality or the properties of the

endomorphism S = End; (M) for some module M has a big effect

of the module M . In some times the properties of ring S give a

complete or semi-complete idea of the same module M .

In this paper we study the concept of D,-module and its

endomorphism ring. Where the module M is said to be

D, —module, if for every two sub-modules A,B of M such that
M/B= A and A is a direct summand of M, then B is a direct
summand of M .

We have proved that the endomorphism ring S of some
module M, is regular if and only if the module M is D, —module

and for every element f €S, Im(f) isadirect summand of M .

In addition to that, we study the concept of C, —module and

its endomorphism ring. Where the module M is said to be

C, —module, if for every two submodules A,B of M such that
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B=~A and A is a direct summand of M, then B is a direct

summand of M .
We have proved that the endomorphism ring S of some
module M, is regular if and only if the module M is C, —module

and for every element f €S, Ker(f) isa direct summand of M .

Finally, we found that the module M is D, —module and
C, —module at the same time if and only if the module satisfy the
following condition: for every element f €S, Ker(f) is a direct

summand of M if and only if Im(f) isa direct summand of M .

Key Words: Regular and semi-regular ring, D, —Module and C, —
Module, Direct Projective (Injective) module.
2020 Mathematics Subject Classification: 16P40 16P20 16D40 «

16D50.

! Proof. Department of Mathematics, Faculty of Science, Damascus University.
2 Graduate Student. Department of Mathematics, Faculty of Science, Damascus
University.
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sl T(M) =S of e Wl oyl dadsine S ddlall o (=il (1) <=(2)
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